Integrujte
) [ acte (5 ) @
(2) [ sin(2o) cos(sa) .
(3) / (1-2)e” da.
(@) [ zarcty(e) de.

(5) / e** sin(3z) dx.

(6) /e—w cos (“;) da.
(7) /2x sin (2 - ;) dz.

(8) / arcsin(z) dz.

() / 22 In(z) dz.

(10) /(1 - 23:2) sin(2z) dz.

(11) /111(1 —z)dz.

(12) /(3x +2) cos <§) da.
(13) /arcsin (Z) da.

(14) / ze " du.

(15) / (1 - xz) sin(z) dz.

M 11

(16) / arcte(z) dz.

(17) / In(z) dz.

(18) / arctg(2x) d.
(19) / (1 - 32) cos(z) da.
(20) / e (1— ) du.
) [ a)sin(o) .
22) [ (22~ Vsin2e) da,
(23) / zsin(z) de.

o [ (1)
) [in() i

(26) / 35 (1 - 22) dr.
en) [ (=204 3)sn (3 ) s
(28) [ cos(in(a) da.

(29) / 22 cos(z) dz.

(30) /(2 — ) cos (1 - ;) de.
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Integrujte

(1) /arctg (g) dz = zarctg <;) —In (x2 + 4) te.

(2) /sin(2x) cos(3z)dx = é (2 cos(2x) cos(3z) + 3sin(2z) sin(3z)) + ¢ = cos(z) 1

5 10 cos(5x) + c.

(3) /ex(l —z)de =(2—2x)e" +c.

(x2 arctg(z) + arctg(z) — :E) +ec.

N |

(4) /:carctg(x) dz =

(5) /eh sin(3z) dz = %eQI(Q sin(3z) — 3 cos(3x)) + c.

(6) /eﬂ” cos <;C> do = %e*ﬂ” (2 sin (‘;) — 4cos <§)> te
(7) /2xsin <2 - g) dz = 6z cos (2 - ;f) + 18sin (2 - z) +e.

(8) /arcsin(:zc) dz = /1 — 22+ zarcsin(z) + c.

3
(9) /x2 In(z)dz = %x‘n’ In(z) — — +ec.

9
(10) / (1 - 2:r2> sin(2z) do = <x2 - 1) cos(2z) — xsin(2x) + c.

(11) /ln(l —z)dz=zln(l—z) — (z+In(1—2)) +c

(12) /(3x+2) cos (g) dz = 2(3z + 2) sin <;C> 4 12cos (;) e
(13) /arcsin (Z) dz = /16 — 22 + z arcsin (Z) ‘e

(14) /me_w de=—-(z+1)e *“+c+ec.



(15) / (1 - x2) sin(z) dz = (:ﬂ - 3) cos(z) — 2z sin(z) + c.

(16) / arctg(x) dz = = arcig(x) — %m (2 +1) +c
(17) / In(z) de = = (In(z) — 1) +c.

(18) / tan~!(2z) dz = x arctg(2z) — iln (402 +1) +e

(19) / (1 - 32) cos(x) dz = (1 — 32) sin(z) — 3cos(z) + c.

(20) /ew(l —a)de =" (2?42 +5) +e.

(21) / (2 — 4) sin(z) dz = —(z — 4) cos(x) + sin(z) + c.

(22) / (20— 1)sin(20) dz = — (22 — 1) cos(22) + 5 sin(2x) +c..

(23) / wsin(z) dz = —z cos(z) + sin(z) + c.

(24) / & (a2 1) dr = 10 (2~ 20 +38) +e.

(25) / In (a*) do = (m GF 3) te

(26) /e3+% (1—2x)dz = (10 —4z)e3 13 4 ¢

1) [ (=204 8)sin (5 ) o = (<30 + 604 45) cos (5 ) + 1500~ sin (5 ) e
(28) / cos(In(z)) da = %xsin(ln(m)) + %xcos(ln(x)) b

(29) /x2 cos(z)dx = (a:2 - 2) sin(x) + 2x cos(z) + c.

(30) /(sz)cos (1;) da = —2(2 — ) sin <1;> — 4cos (12) te



